CHAPTER 10 - Selected Answers “Evens” 
        p.1  

Section 10.1 (p.571)

2. No; the degree is 3 because -4x3 has the greatest exponent.  4. cubic monomial 6. cubic trinomial  8. constant monomial  10. Distribute the negative sign to get: 

(-9x – 3x) + 7 and the correct answer of 12x2 – 12x + 7  12. -2x – 1  14. x2 + x – 3  
16. sometimes  18. sometimes  20. 1  22. 3  24. 2x; linear monomial  26. -3w + 7; linear binomial  28. 5y2 – 36 + 8; quadratic trinomial  30. 5x3 – 2x – 6; cubic trinomial 

32. 9w3 + 14w2; cubic binomial  34. 3a3 + 2a2 + a  36. 5y2 + 7  38. 3x2 – 6x  

40. -4a2 + 4a – 1  42. –y3 – 10y – 4  44. 2a3 – 7a2 + a + 7  46. t2 + 4  48. u3 – u2 – u – 5  

50. 10x3 + 11x2 + 2x – 12  52. 1350 ft2, 4500 ft2  54. natural gas  56. F  58. -3x – 5  

60. 8x + 24  62. 4x + 3  64. 24.0, 24.1, 23.9, 24.1, 24.0, 24.0  66. 81  68. -729  70. 373,248 
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Section 10.2 (p.578)

2. Sample Answer: 3x, 2x – 5, 3x2 + x – 2  4. (2x – 1), (2x – 1)  6. 8x  8. 2x2  
10. 2x3 + 2x2 – 10x  12. a2 + 9a + 20  14. 8x2 + 14x + 3  16. x2 + 15x + 54  

18. x2 + x – 12  20. 6x2 – 11x + 4  22. -3t5 + 21t3 – 9t2  24. -6y3 – 5y2  

26. -6b5 + 16b3 – 11b2  28. x2 + 4x – 12  30. a2 + 5a – 24  32. 4m2 – 5m – 6  

34. 6d2 + 11d + 3  36. a2 + 13a + 42  38. x2 – 36  40. 4b2 – 25b + 6  42. 3a2 – 28a + 9 

44. 12q2 + 29q – 8  46. 16x2 + 8x – 15  48. x3 + 5x2 + 11x + 10  50. a3 – 7a2 + 6a + 18 

52. x3 + 2x2 – 5x + 12  54. m3 – 2m2 – 17m + 36  56. 6x2 + 20x + 16  58. 50 ft 

60. Sample Answer: The revenue will decrease over time.  62. D  64. C  66. 
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68. 0.25w2  70. 48  72. 256c8  74. –w12  76. 512x6y24  78. two solutions  80. two 

82. no real solution  84. two  

86. [image: image8.jpg]


  88. [image: image9.jpg]88.




  

90. ¼  92. 7/20  94. 26/21  96. ¾  98. 9

Section 10.3 (p.585)
2. square of a binomial  4. w2 – 121  6. 9y2 – 6y + 1  8. a2 – 4  10. True  12. False; 4x2 – 36  
14. yes  16. no  18. no  20. no  22. yes  24. y2 – 1  26. 9b2 – 1  28. 36 – 25n2  

30. a2 + 16a + 64  32. 4y2 – 16y + 16  34. x2 – 14x + 49  36. x2 – 9  38. n2 – 8n + 16 

40. 16n2 – 24n + 9  42. 16x2 + 40x + 25  44. 9y2 + 48y + 64  46. a2 – 4ab + 4b2 
48. false; 9s2 – 4t2  50. false; 36y2 – 84wy + 49w2  52. (2x+2)2 = 4x2 + 8x + 4 

54. |8x – 20| or 4|2x – 5|  56. (.5F + .5N)2 = .25F2 + .5FN + .25N2  58. B  60. 36/x2  62. x3  
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68. 1/16  70. 16/81  72. 8/125  74. 125/512

Section 10.4 (p.591) 
2. No; x2 – 9 can be factored as (x – 3)(x + 3)  4. Subtract ‘4’ from each side to get: 2x = -4 
6. no  8. yes  10. 3, 5  12. -9, 2, 5  14. -4, -1  16. 0, -8  18. 9, -8  20. 2, -1  22. 7, 5  

24. 0, 
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  26. -9, 11  28. -6, 4/3  30. 0, 4, 8  32. 0, 12  34. -9, 9, -12  36. 5, 6, 2/3  38. B
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40. x-intercepts 4, -2, V(1, -9)  42. x-intercepts 
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, V(0, -9) 44. x-intercepts 2,6 V(4, -4)

46. 82 ft; the width is the distance between the two x-intercepts.  48. 600 ft 50. 1200 m

52. B  54. 210,000  56. 857,000,000  58. 0.00371  60. 0.000722  62. x2 – 9x + 14

64. x2 + x – 20  66. 25x2 + 5x – 2  68. 8x2 – 20x + 8  70. 6x2 + x – 15  72. exponential growth; 
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 Where ‘N’ represents the # of CD’s sold in any given year (t) after 1995 (when N0 represents the initial amount sold in 1995).  74. 
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where R0 represents the revenue in 1993 and ‘t’ represents the years after 1993. ‘R’ represents the revenue earned in any year after 1993. 76. 1,2,4,5,10,20  78. 1,5,7,35 

80. 1,2,3,4,6,8,12,24    82. 1,2,3,4,6,8,12,16,24,48   84. 1,2,3,5,6,7,12,14,21,28,42,84  

86. 1,2,4,7,8,14,16,28,56,112

Section 10.5 (p.599) 

2. D  4. B  6. 2  8. 2, -3  10. always  12. B  14. B  16. (x + 9)(x – 1)  18. (a – 5)(a + 4) 

20. (y – 6)(y + 3)  22. (w + 9)(w + 4)  24. -2, -5  26. -3  28. 2, 7  30. -1, -15  32. 3, 17  

34. 6, 7  36. 10, -9  38. 8, -6  40. 1, 19  42. h2 – h – 20 
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 0  44. platform: 95m X 95m, building: 57m X 57m  46. C  48. C  50. 12  52. 24  54. 4  
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56. 3q4 – 15q3 + 18q  58. 49x2 – 154x + 121  60. 12a2 + 10a – 12  62.  -7, -12  64. 19  

66. 27, -47  68. 3, -5  70. 9.94  72. 20.511  74. 14.5434  76. 8.2151  

Section 10.6 (p.606) 

2. ‘+ 3x’  4. – 19x  6. B  8. A  10. (2x + 3)(x + 7)  12. (6t + 5)(t – 1)  14. (2x + 5)(3x – 4)  

16. -5/3, -7  18. 2/7, -6  20. (6y + 1)(y – 5)  22. (2x – 3)(x + 1)  24. (5x – 3)(x + 1) 

26. (5w + 1)(w – 2)  28. (2b – 1)(4b + 3)  30. 4(y – 1)(3y – 2)  32. (2y – 5)(3y + 2)  

34. 2(n – 7)(2n + 3)  36. 3(2r – 3)(4r + 5)  38. (7y – 4)(2y – 1)  40. Before factoring, set all the terms equal to zero. Subtract 10 from both sides to get: 2x2 – 3x – 9 = 0, x = -3/2, 3 
42. -5/2, 7  44. -1/3, -11  46. 19/2, -1  48. -3/2, -8  50. 9/2, -2/3  52. -5/2, -2/3  54. -3/2, 6/5  

56.(a) 10 = -16t2 + 50t + 4 (b) 3 sec; the other solution of 1/8 sec is the time it takes her to go from the cannon to 10 feet on her way up.  58. B  60. (-2, 3)  62. (40, 40)  64. b2 – 81  

66. 4a2 – 49  68. 729x2 + 5400x + 10,000  70. 3  72. 512/729  74. 21/5  76. 2/15 

Section 10.7 (p.613) 

2. (x – 3)(x + 3)  4. not factorable (prime)  6. (4 – c)(4 + c)  8. 2(3 – b)(3 + b)  

10. (2a – b)(2a + b)  12. 12, -12  14. 5, -5  16. -2  18. (n – 4)(n + 4)  20. not factorable  

22. (7 – a)(7 + a)  24. not factorable  26. (5s – 4t)(5s + 4t)  28. (x – 10)2  30. (y + 15)2 

32. (2r + 3)2  34. 2(3x + 1)2  36. (6m – 7)2  38. (x + 6y)2  40. 2(3x – 4)(3x + 4)  

42. 6(b – 3)(b + 3)  44. 7(2y – 1)(2y + 1)  46. 6(2a – 3)(2a + 3)  48. 2(4x – 3)2  
50. 2(x + 7y)2  52. -2/5, 2/5  54. 3, -3  56. 2/3  58. -3/5  60. 1.5 in  62. 0.5 sec  64. 24 ft/sec  66. D  68. C  70. no  72. yes  74. (-2, -6)  76. (2, -1)  78. (-4, 1)  80. 
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  88. 6, 4/9  90. 23  92. 
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Section 10.8 (p.620) 

2. ‘x2 + 9’ is prime. (It can’t be factored.)  4. 5n(n2 – 4)  6. 2y2(3y2 + 7y – 5) 
8. (x + 4)(x2 – 4x + 16)  10. (5x – 1)(25x2 + 5x + 1)  12. 7a(a – 3)(a + 1)  14. y(y – 5)(y – 1) 

16. 5b(b – 7)(b + 2)  18. 4q(q3 + 3)  20. 5x2(3x + 2)  22. 6t3(4t2 + 1)  24. 2a2(2a3 + 4a – 1) 
26. (x + y)(x + 2)  28. (x2 – 2)(2x – 3)  30. (x – 1)(8x – 3)  32. (m + 1)(m2 – m + 1)  

34. (r + 4)(r2 – 4r + 16)  36. 6x2(4x + 3)  38. 5s(s + 2)(s + 4)  40. -3z2(4z – 1)  

42. (x – 3)(x2 + 1)  44. 2(x – 15)(x2 + 15x + 225)  46. 4, -1  48. 0, 4, -4  50. 0, -2, 31 

52. -1, 3/5  54. 1, 1/3  56. 
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  58. about 9.7 sec  60. h(h – 3)(h – 9) = 324  62. C

64. 
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  68. -2, 12  70. 3/2, -3  72. [image: image30.jpg]


 

74. 1/8   76. 9/2   78. 6/5   80. 10/97
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Chapter 10 Summary and Review (p.623) 

2. 12m – 24  4. -3x2 + 8x – 7  6. 4x3 – x + 1  8. -4x5 – 8x4 + 28x3  10. 20x2 + 3x – 2  

12. 6b3 + 7b2 + 3b – 4  14. 25x2 – 4  16. 49m2 – 84m + 36  18. -10, -1  20. 7  22. 1/5, -1/3

24. -5, ½ , -2/3  26. 0, -3/4  28. (a – 8)(a + 2)  30. 4, 7  32. 10, -4  34. (3x – 2)(x – 2)  

36. (5c + 2)(c – 7)  38. -1/4, 1  40. 7, -7  42. 1/3  44. 3/2  46. -2x(x2 – 3x + 7)  

48. (x – 2)(x + 2)(x + 3)  50. (x – 4)(x2 + 4x + 16)  52. 1, 5  54. 0, 5/2, 5/4

Chapter 10 Chapter Test (p.627)
1. 6x2 + 4x + 1  2. 5t2 – 17t – 12  3. 3n3 + 5n2 – n – 12  4. 3x4 + 3x2 + 8  5. 2x2 + 9x + 9    

6. 15x2 – 2x + 1  7. 4w3 – 23w2 – 13w + 42  8. 20t3 + 48t2 – 19t – 14 

9. 3z4 + z3 – 10z2 + 8z + 16  10. 16x2 – 8x – 3  11. x2 – 24x + 144  12. 49x2 + 28x + 4  

13. 64x2 – 9  14. 5/6, -2  15. -8  16. -3, 1, -2/3  
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17. x-intercepts: -1,5 V(2, -9) 18. x-intercepts: -4,4 V(0, -16) 19. x-intercepts: -6,-2 V(-4,-4)  20. -10, -3  21. 7, 12  22. 40, -6  23. 9/2, -12  24. -4/3, 7/3  25. 7/3, 5/6  26. (x – 14)(x + 14) 

27. 4(2x – 3)(2x + 3)  28. -2(5x – 8)(5x + 8)  29. (x – 3)2  30. (2x + 11)2 

31. -3x(x + 3)(2x – 5)  32. 9(t2 – 6)  33. (x + 2)(x + 4)(x – 4)  34. 2x(x – 9)(x + 9) 

35. 7, -7  36. ½, -8  37. 5, 8  38. 0, 16  39. 0, -1/4  40. -7, 2  41. 0, 11, -11  42. 0, -3

43. 5/2, -3/8  44. 9ft by 15ft  45. 1 ft

Chapter 10 Standardized Test (p.628) 1. B  2. A  3. D  4. B  5. D  6. B  7. C  8. D  9. B
Maintaining Skills (p.629)

2. 3/8, 4/7    4. 1/6, ½, ¾    6. 7/24, 7/8, 5/4    8. 5/6, 
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10. -7/12    12. 11/24    14. 
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